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kk=2; [mdd, ndd]=size (dd) ;

while ~isempty (V)

[tmpd, j]=min (W(i,V));tmpi=V () ;

for k=2:ndd
[tmpl,jjl=min(dd (1, k)+W(dd(2,k),V));
tmp2=V(jJj);tt(k-1,:)=[tmpl, tmp2,JJ]l;

end

tmp=[tmpd, tmpj, j;tt]; [tmp3, tmp4 ]=min (tmp (:,1));
if tmp3==tmpd, ss(l:2,kk)=[1i;tmp (tmp4,2)];
else, tmp5=find(ss (:, tmp4) ~=0) ; tmp6=1length (tmpb) ;
if dd (2, tmpd)==ss (tmp6, tmp4)
ss(l:tmp6+1,kk)=[ss (tmp5, tmp4) ; tmp (tmp4,2)]1;
else, ss(1:3,kk)=[1i;dd(2,tmp4);tmp (tmp4,2)];
end;end

dd=[dd, [tmp3;tmp (tmp4,2)]1]1;V (tmp (tmp4,3))=[1;
[mdd, ndd]=size (dd) ; kk=kk+1;

end; S=ss; D=dd(1,:);



	1. 问题重述
	1.1 引言
	1.2 问题的提出

	2. 模型的假设
	3. 符号说明
	4. 问题分析
	4.1 问题一分析
	4.2 问题二分析
	4.3 问题三分析

	5. 参考文献
	附录A 我的 MATLAB 源程序

